

## Multiply by $10^{-3}$ (A)

Find each product.

$$8.7 \times 10^{-3} =$$

$$4.7876 \times 10^{-3} =$$

$$7.847 \times 10^{-3} =$$

$$3.5 \times 10^{-3} =$$

$$9.7 \times 10^{-3} =$$

$$1.268 \times 10^{-3} =$$

$$3.84 \times 10^{-3} =$$

$$5.44 \times 10^{-3} =$$

$$3.92 \times 10^{-3} =$$

$$3.4086 \times 10^{-3} =$$

$$6.4 \times 10^{-3} =$$

$$1.905 \times 10^{-3} =$$

$$8.64 \times 10^{-3} =$$

$$5.74 \times 10^{-3} =$$

$$3.3 \times 10^{-3} =$$

$$5.695 \times 10^{-3} =$$

$$6.742 \times 10^{-3} =$$

$$8.69 \times 10^{-3} =$$

$$2.9 \times 10^{-3} =$$

$$2 \times 10^{-3} =$$